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VAX=11 CONVERT/RECLAIM }E ;39-1832 ?g:?g:g; VAX=11 Bliss=32 V4.0-742

- Page 1
4=Sep~-1 DXSKSVHSHASTER:[CONV.SRCJRECLREC.832:1g (1)
1 XTITLE °VAX=11 CONVERT/RECLAIM®
i MODULE RECLSREC ( IDENT='¥04-000'.
OPTLEVEL=
004 ) =
085
80? ] BEGIN
883 } %t.Qttttttitttt'ttt'tt!tl'ttttt"tt'i'l""tt't"!'t't'ttt't.!it!t.t't""ttt
e *
010 1 '+ COPYRIGHT (¢c) 1978, 1980, 1982, 1984 BY *
011 1 '+ DIGITAL EQUIPMENT CORPORATKON. MAYNARD, MASSACHUSETTS. *
}; } ;: ALL RIGHTS RESERVED. :
014 1 in THIS SOFTWARE IS FURNISHED UNDER A LICENSE AND MAY BE USED AND COPIED *
8015 1 !* ONLY IN ACCORDANCE WITH THE TERMS OF SUCH LICENSE AND WITH THE .
01? 1 ' INCLUSION OF THE ABOVE COPYRIGHT NOTICE. THIS SOFTWARE OR ANY OTHER *
001 1 '~ COPIES THEREOF MAY NOT BE PROVIDED OR OTHERWISE MADE AVAILABLE TO ANY *
0018 1 !* OTHER PERSON. NO TITLE TO AND OWNERSHIP OF THE SOFTWARE IS HEREBY *
8813 } ;: TRANSFERRED. :
88 1 1 i* THE INFORMATION IN THIS SOFTWARE IS SUBJECT TO CHANGE WITHOUT NOTICE +
i 1 '= AND SHOULD NOT BE CONSTRUED AS A COMMITMENT BY DIGITAL EQUIPMENT *
88 z } ;: CORPORATION. :
88 S 1 ie DIGITAL ASSUMES NO RESPONSIBILITY FOR THE USE OR RELIABILITY OF ITS *
o 9 } ;: SOF TWARE ON EQUIPMENT WHICH IS NOT SUPPLIED BY DIGITAL. :
0028 1 i+ «
0029 1 !itttttttttttttttttt'ttttttttttttttttttt"tt'tttitQtt'ttttttttt'ti'ttt'tttttt
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VAX=11 CONVERT/RECLAIM 15-380-1984 23:59:42  VAX=11 BLiss=32 Vé.0-7% b
1Al IaRe 133008 DR Imena Rl e Ta2 recLrec 032 19 (of

?
o
|

1 les
1!
g } ; Facility: VAX=11 CONVERT/RECLAIM
: } g Environment:
? } g VAX/VMS Operating system
8 } g Abstract:
? } % This module contains routines to handle index records.
§ 1 i Contents:
1! BUCKET_EMPTY
& 1! SQUISH_PRIMARY_BUCKET
s 1! SQUISH™SIDR BUCKET
? 1! GET _DOGUN_POINTER
1! COMPARE _POINTER
s 1! SWING_POINTER
1! REMOVE _INDEX_RECORD
i? } E RECOHPHESS,RECORD
] iee
?E 1
gS } § Author: Peter Lieberwirth Creation Date: 2-Sep-1981
g? } g Modified by:
Sg 1 v03-009 TMx0001 Todd M. Katz 03-Feb=-1983
1! Add support for Recovery Unit Journalling and RU ROLLBACK
1 } ; Recovery of ISAM files.
.i 1 The routine SQUISH_PRIMARY_BUCKET has been modified to squish
s 1 ! primary data records that are marked RU DELETE and re-format
3 } ; primary data records that have been marked RU_UPDATE.
57 1 1 The routine SQUISH_SIDR_BUCKET has been modified to squish
} ; SIDR array elementS that are marked RU_DELETE.
1 i NOTE: The routine SQUISH_SIDR_BUCKET is al orithnicallx wrong.
1! t doesn't squish out anything! I plan on [eaving it the way it
} ; s until a massive re-write can be done.
1 v03-008 KBT0396 Keith B. Thompson 2-Nov-1982
} E Fix some bugs in squish_primary_bucket and squish_sidr_bucket
1 v03-007 KBT0389 Keith B. Thompson 28-0ct-1982
1! Add support for prologue 3 sidrs and do record level
} ; space reclamition
1 v03-006 KBT0357 Keith B. Thompson 6-0ct-1982
} g Use new merged ctx definitions
1 v03-005 KBT0354 Keith B, Thompson 5-0ct-1982
} ; Use new lLinkage definitions




VB-805

TR TELE TR TR DR TR TR LR TR TN T

8RIR2RGS

VAX=11 CONVERT/RECLAIM g Sop-}zs4 i3:¥9§3; VAX=11 Bliss=32 V4.0-74

P A N gy

DISKSVHSHA ER:[CONV.SR%J!ECLREC B32; ’g

4'509'

v03-004 kBT0049 Keith Thompson 21=Apr=1982

Add routine to check for last index record 1n bucket
v03-003 KBTOO&b Keith Thompson 12=Apr-1982

Fix compression bug and increase the key buffors to 257 bytes
v03-002 KBT0042 Keith Thompson 3-Apr-1982

Add routines to compare and swing index pointors
v03-001 KBT0026 Keith Thompson 29-Mar-1982

Do not reclaim data buckets with zero id
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AX=11 CONVERT/RECLAIM 13.360-1086 23:59:42  VAX-11 BLiss=32 Vé.0-742 Page S
UCKET_EMPTY 12230021080 2130168 B NcdmemAsTER ctoiy TRt mecLrec 8320 ] 4
SBTTL *BUCKET ENPTY:
LOBAL ROUTINE RECLSSBUCKET_EMPTY : RLSJSB_REG.D =

Functional Description:

This routine determines if a bucket is empty. It handles both
index level and data level buckets.

Calling Sequence:

RECLSSBUCKET_EMPTY();
Input Parameters:

None.
Implicit Inputs:

BUCKET = address of buffer containing bucket
Output Parameters:

None.
Implicit Outputs:

RECLSGL_BUCKET_COUNT is incremented.
Routine Value:

TRUE if bucket is empty
FALSE if bucket is not empty or can't be reclaimed

Routines Called:

SQUISH_PRIMARY _BUCKET
SQUISH-SIDR_BUTKET

Side Effects:
None.

L L T R ~ ¥ 3

BEGIN

DEFINE_CTX;
DEF INE“BUCKET;
DEF INE"KEY_DESC;

LITERAL

RECLS_DATA_LEVEL =
RECLS_BUCKET_EMPTY =
RECLS_BUCKET_NOT_EMPTY =

! Determine if bucket is data Level or index level

— ) e e ) e o ) o ) i i el ) o e D el e i D ) D i e D D el e D D D D D e e i D e e il D e e ) el e i el e D o e B D D

PP PEPRUIRIPOPUORIPIMITINRY —3 =B ot 8B =B e B o oD o B B B B B B B D e o b o oo® cmd B B e b e b e e e o bk e S o oy B B
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VAX=11 CONVERT/RECLAIM 1‘-50 =1984 59:4 VAX=11 Bliss=32 Vé&. 0-7 2
BUCKEY_SHP1V 1a-s.3-1354 ¥;.14=0§ DISKSVMSMASTER: LCONV
181 !
} %;EﬁBUCKET [ BKTSB_LEVEL ] EQLU RECLS_DATA_LEVEL
1
} S ; Determine key
1 iF .KEY_DESC [ KEY$SB_KEYREF ) EQL 0
1 3 THEN
} : SQUISH_PRIMARY_BUCKET()
}9 SQUISH_SIDR_BUCKET();
}§2 : See if it's empty
195 i NOTE: Nevor reclaim the Llast bucket in a Level, due to the complexity of
19? i updati ng hi gh key values in all the Levels above. This is not a serious
19 i restriction since most reclamation will be of aging buckets early in
0}38 : collating sequence.
8 00 IF ¢ .BUCKET [ BKTSW _KEYFRESPC ] NEQU BKTSC_OVERHDSZ ) OR
' 81 — .BUCKET [ BKTSV_LASTBKT ]
8 85 . RETURN RECLS_BUCKET_NOT_EMPTY
8 85 RETURN RECLS_BUCKET_EMPTY
0 09 END;
.TITLE RECLSREC VAX=11 CONVERT/RECLAIM
+IDENT \V04-000\
.PSECT SOWNS ,NOEXE,?2
00000 INDEX: .BLKB &
00004 VBN OFFSE; -
00008 VBN_FREE_SPACE:
.BLKB 4
0000C KEY BUFFER 1:
EK 557
8011 KEY_BUFFER 2:
.B(kB 257
.EXTRN CONVSSRMS READ_ERROR
EXTRN RECLSGL_BOCKET_COUNT
EXTRN RECLSGL SEARCH_BUFFER
EXTRN CONVSABZOUT_FAB
EXTRN CONVSAB_OUT_RAB
PSECT SCODES,NOWRT,2

0C A9 95 00000 RECLSSBUC%E; EHPYV

15 48 98 00003

BNEQ
1sT8

(BUCKET)
31(KEY JDESC)

: 0182
: 0187
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SH_PRIMARY BUCKET'
H_PRIMARY_BUCKET : RLSJSB_REG_9 NOVALUE =

W e CM
Vv O™
cD Xr
— m»
(7. 1

+
*

Functional Description:

Suqishes the deleted records out of the primary data buckets
Calling Sequence:

SQUISH_PRIMARY _BUCKET()

Input Parameters:
None

Implicit Inputs:

BUCKET - address of buffer containing bucket
KEY_DESC

Output Parameters:
None

1
1
1
1
1
1
1
1
]

Implicit Outputs:
v None ’

VASS AN = O O 00 NON N S N = OO 0 O NV B

Routine Value:
None

Routines Called:

e8P0 000000000000 000000000000 RN RE NI RNERNINERENE VNNV NNV VENIRINEVEVE VNIV RETIVEI BN EENE B B e
OO0000O0O00O0O0O0O0OO0O0O0O0OO0O0O0O0O000O0O0O0O0O0O0O0O0OOOOOOOO0OOOOOOOOOOOOOOCD w<s

VWA (WAVAVAVIVY ¥ ¥ oF oF o F oF o o 3F 5 b e o s i e

PURIALAIRVLNLRIRI NI NI NINOININI NI NI NI = <d b b e ol e e od o oD e D D oD oD S ed D ed ) D D oD o o od e o o D e e o D o D o

8
39 None.
40
41 Side Effects:
o8
&4 None.
44
45 .-
o3
2 BEGIN
43 DEF INE_BUCKET;
s? DEF INE"KEY_DESC;
gg LOCAL
5 LAST
54 POINTER
55 RECORD_CTRL : REF BLOCK [ ,BYTE J;
i? ; Point to the first record in the bucket |
g§ POINTER = BKTSK_OVERHDSZ + .BUCKET;
21 LAST = .POINTER;
6§ ! Count the bucket
64 i
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RECLSREC VAX=11 CONVERT/RECLAIM 1?-5 -1984 23:59:4 VAX=11 Bliss=32 v4.0-74 P

VS‘-OOS SQUISH_PRIMARY_BUCKE 14-5:3-183‘ i;:lb:Oi DlSKSVHSHAS%ER:(CONV.SR%JRECLREC.OSZ:?OC (Sg

RECLSGL _BUCKET_COUNT = .RECLSGL_BUCKET_COUNT + 1;
; If this bucket has an id of zero then don't bother reclaiming it
%;EﬁBUCKEI [ BKTSW_NXTRECID J EQLU O
RETURN;
g Loop untill we have Looked at all of the records
gglLE +POINTER LSSU ( .BUCKET [ BKTSW_FREESPACE ] + .BUCKET )
BEGIN
; Point to the control bytes of the record
RECORD_CTRL = .POINTER;

! 1f this record not deleted check to see if there were any deleted
5 records before it, if so squish them out

if NOT (.gECORD-CTRL C IRCSV_DELETED )

ﬁﬂﬂﬂﬂﬂﬂﬂﬂw
- VIS IND = O W

S PR AR

91
i THEN +RECORD_CTRL [ IRCSV_RU_DELETE 1)
3; BEGIN
96 LOCAL SQUISH;
97
98

! The current record is not deleted so squish out the
; deleted ones if there where any

SQUISH = .POINTER = .LAST;
IF_.SQUISH NEQ 0
THEN
BEGIN
LOCAL BYTES;
; Number of bytes left in the bucket
BYTES = ( .BUCKET + .BUCKET [ BKTSW_FREESPACE ] ) - .POINTER;
; Move the rest of the records
CHSMOVE( .BYTES,.POINTER,.LAST );
g Update the bucket pointer

BUCKET [ BKTSW_FREESPACE ] = .BUCKET [ BKTSW_FREESPACE ) EOUISN'

VOOV OV O OOO0O

GRSSERIRRREN2STRISR

[

VIWVAAAAVAVAAVIVIVIVIVIVIVIVIVIVIVIVIWVASS 85 85 85 85 85 55 0 5 8 85 W8S 8 5 WU WNIWNLNIN LN NNINIRIRINININOND

SN = OO0

e e b e e e d = b OO

! Update our pointers

|
POINTER = .POINTER = .SQUISH:
RECORD_CTRL = ,POINTER

R RS OBV N IO VB IG AR A S
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IRECLAIN 19-56p-1984 23:59:42  VAX-11 BLiss-32 v&.0-
SRIAARY_BUCKET 14-3e5-1380 T2:72:08 DIl VIMASTERZ Lok ohe

f the current non-deleted primary data record is marked RU_UPDATE
hen re=format at this time.

Ind ol

—fo—
x="T
m
e

IZE : UORD.
12E ¢ WORD;
the RU_UPDATE bi% and retrieve the record's true size
number of bytes in the bucket it currently occupies.
1

C_IRCSV_RU_UPDATE J = 0;
-RECORD™CTRL C 9,0,16,0°3;
.(.RECORD_CTRL + .FAKE_SIZE + 9)<0,16>;

[ ] s Bomef]
lad l'm'n; ®-- 1

he true size of the pr!nur; data record in the size
! field of the record overhead, shift the rest of the records
! in the bucket to take up the available space., and update the
; bucket's freespace offset pointer.

RECORD_CTRL [ 9,0,16,0 J = .TRUE_SIZE;

BYTES = .BUCKET + .BUCKET [ BKTSW_FREESPACE )
- .RECORD CTRL
- FAKE_STZE;

IF .BYTES GTRU 0

THEN

CHSMOVE ( .BYTES

-RECORD_CTRL + .FAKE_SIZE,
.RECORD_CTRL + .TRUEZSIZE');
BUCKET [ BKTSW_FREESPACE ) = .BUCKET [ BKTSW_FREESPACE )
- ( LFAKE_SIZE - .TRUE_SIZE J;
END;
END;

; Find the next record
§ Is this record a RRV record
IF_.RECORD_CTRL C IRCSV_RRV )
THEN
! If this record has no RRV pointer then set the size to the
; smallest record there is
iF .RECORD_CTRL [ IRCSV_NOPTRSZ )
THEN

4
RCIRECLREC.B32
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VAX=11 CONVERT/RECLAIM 12-509-19 4 i 159:4 VAX=11 BLiss=32 V4.0-742
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5 The least case size of a record is 3 bytes (CTRL and ID)
POINTER = .POINTER + 3
ELSE

! The size of the record with an RRV pointer is
s CTRL, ID and Pointer Size (ID and VBN)

POINTER = .POINTER + 3 + .RECORD_CTRL [ IRCSV_PTRSZ 1 + &
ELSE
; It is not a RRV, so does it have a size field
IF .KEY_DESC [ KEYSV_REC_COMPR ] OR
z‘f!o35223‘06$'?25‘%':&82§"n2n°§ EQL FABSC_VAR )
THEN s = =
; Add the size of the record from the size field and control
POINTER = .POINTER + .RECORD_CTRL [ 9,0,16,0 1 + 11
ELSE
% Add the size of the record and control bytes
POINTER = ,POINTER + .CONVSAB_OUT_FAB [ FABSW_MRS ] + 9;
5 It the last record was not deleted update the last record pointer
IF NOT (6:ECORD-CTRL [ IRCSV_DELETED ]
— +RECORD_CTRL [ IRCSV_RU_DELETE 1)
LAST = .POINTER
END;
; Update the bucket pointer to catch the last record if it was deleted
! We exit the Loop under two cases, 1) the last n records were deleted
| Fecond Las not deleted 1 WRICh coe pAST HITL be Bointing th the "
; END of the last record, i.e. same as freespace.
BUCKET [ BKTSW_FREESPACE ) = .LAST = .BUCKET;
RETURN

END;

P 11
:14:0 DISKSVHSHASTER:fCONV.SRCJRECLREC.832:?9' (5)
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! Functional Description:

Suqishes the deleted records out of the sidr data buckets

i Calling Sequence:

SQUISH_SIDR_BUCKET()

i Input Parameters:

None

i Implicit Inputs:

BUCKET = address of buffer containing bucket
KEY_DESC

i Output Parameters:

None

! Implicit Outputs:
None

i Routine Value:

None

i Routines Called:

None

i Side Effects:

None
NOTE: The routine SQUISH_SIDR_BUCKET is al orithmicall‘ wrong.
It doesn't squish out anything! 1 plan on leaving it the way it
is until a massive re-write can be done.

BEGIN

DEF INE_BUCKET;
DEF INE"KEY_DESC;

LOCAL
LAST
POINTER : REF BLOCK [ ,BYTE ).
SIDR : REF BLOCK [ .BYTE J:
; Point to the first record in the bucket
SIDR = BKT$K_OVERHDSZ ¢ .BUCKET;
; Count the bucket

RECLSGL_BUCKET_COUNT = .RECLSGL_BUCKET_COUNT + 1;

[
JRECLREC.B32;
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E Loop untill we have Looked at all of the records
gSILE «SIDR LSSU ( .BUCKET [ BKTSW_FREESPACE ] + .BUCKET )
BEGIN
; Point to the first array element
%5E“KEV_DESC [ KEYSV_KEY_COMPR ]
POINTER = .SIDR + .SIDR [ 2,0,8,0 ] + &
POINTER = ,SIDR ¢ .KEY_DESC [ KEY$SB_KEYSZ ] + 2;
LAST = ,_POINTER;
5 Loop untill we have Looked at all of the array elements
gglLE +POINTER LSSU ¢ .SIDR ¢+ .SIDR [ 0,0,16,0 ] + 2)

.
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; If this array elemented is deleted skip to the next one
if .ngutsa C IRCSV_DELETED )

.POINTER [ IRCSV_RU_DELETE ]
THEN

VIV WAV

! Is there a pointer
%;E*POINTER C IRCSV_NOPTRSZ 1]
LSEPOINTER = ,POINTER + 1
POINTER = .POINTER + 1 + _POINTER [ IRCSV_PTRSZ ] + &

ELSE
BEGIN

LOCAL  SQUISH;

! The current sidr is not deleted so squish out the
E deleted ones if there where any

SQUISH = .POINTER = .LAST;
IF .SQUISH NEQ 0
THEN
BEGIN
LOCAL BYTES;
; Number of bytes left in the bucket
BYTES = ( .BUCKET + .BUCKET [ BKTSW_FREESPACE ] ) - .POINTER;

[el=lelolelelelololalsl=lalalalalalelalal=l=lslalelaleclclclalelalalololaTo T

VIR A WAWAIA M A WMTIA WM AWM AWM AWM AWM A AT VIV

Bt o
SNV =O




A

AR LA LA LA LA TR IR TR LA L LR L T T L LA L LA L LR L L LR LA L AL T L T e e e T T I L L L L L I ™™

FARLESBIFURRUR LS

v

NVAAVIWAUIWA
Nﬁﬂﬂﬂﬂﬂﬂﬂosmo

ONOWVSWN=0OO

WVAAWAAWAWAA WA VAWV AW VT AW VTAWVIA IV

SRIRQREN2STEISRRINZSI

2oR%8

S

VAX=11 CONVERT/RECLAIM
SQUISH_SIDR_BUCKET

45

ivavavavy
S0

VIS N = OO0 NN NS Wi = OO 00

O ON O O OO VYWAWWWAVIVWANA S

&

=ANVPORININNNNIN B 85 B 85 85 55 5 05 5 5 8 5 5 W NN B 8 8 8 £ 8~ B~ B NV WA WV W IVIWVIWVIVIVIVIVIWA

VIWVAWA WA WVIIA NI VIRV

od=lolelalelalelalelalelelelela]
OO

NN~
W= OOV NO VS WM = OV 00

(mdmil=lelelalalalelelelelalalat]
000000 NNNNNNN

VIVIWAWA AWM AWMV TV A AW

SSVIROREN2SITIISAR

13
il i
; Move the rest of the records
CHSMOVE( .BYTES,.POINTER,.LAST );

; Update the bucket pointer

BUCKET BKTSW_FREESPACE J = .BUCKET [ BKTSU_FREESPACEna -

6; VAX=11 Bliss=-3
0 DISKSVMSMASTER

2 _V&.0-742 P
:[CONV.SRCIRECLREC.B32;

ISH;

; Update the sidr record size
SIDR [ 0,0,16,0 1 = .SIDR [ 0,0,16,0 ] = .SQUISH;
; Update out pointers
POINTER = .POINTER = .SQUISH;
END;
5 Find the next sidr element
POINTER = .POINTER + 1 + _POINTER [ IRCSV_PTRSZ ] + &;
LAST = ,POINTER
END;
; Is the sidr array completely deleted
IF_.POINTER g0QL ( .SIDR ¢+ .SIDR [ 0,0,16,0 1)
THEN
BEGIN

! Squish out the entire record (lLeaving SIDR pointing to the
; next sidr record)

CHSMOVE( .SIDPR C 0,0,16,0 J,.POINTER,.SIDR );
; Update the bucket pointer

BUCKET [ BKTSW_FREESPACE ] = .BUCKET [ BKTSW_FREESPACE J =
*SIDR [ 0,0,16,0 )

END

ELSE
; If we don't squish the record find the next cne
SIDR = ,SIDR + .SIDR [ 0,0,16,0 J + 2

END;

RETURN
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SSELSRSC VAX=11 CONVERT/RECLAIM g Se
GET_DOWN_POINTER 4=Se

15-Sep=1984 23:59:42  VAX=11 BLiss=32 Vé.0=742 o 9
10-3001080 §3:32:08 Drsciumenasteacctont - TadnecLnec 0310 B3

XSBTTL 'GET_DOWN PglﬂTER'
?&QBAL ROUTIRE RECLSSGET_DOWN_POINTER ( VBN ) : RL$JSB_REG_8 =

§ Functional Description:

This routine searches the current buffer for the specified
down pointer.

i Calling Sequence:
GET_DOWN_POINTER( VBN );

_.O“ OO
OO0 VIS WiIn= |

D e O RV S R R )
NS WN=O -~

3 1

: 1

s 1

: 1

: 1

: 1

s 1!

S 1!

: : 3

3 1 3

3 11 1!

P81 R

; g ? }g } g Input Parameters:

5 g i }9 } : VBN = VBN of bucket on level below being deleted
;624 618 1 | Implicit Inputs:

1 8618 111w ‘

: & 9 0620 1! BUCKET = address of buffer containing bucket
3 g 5 82 1 } : KEY_DESC

;629 82 ; 1 | Output Parameters:

: 6 & 1!

: 231 32 5 } : None.

: 2;2 06 2 } g Implicit Outputs:

; ggg §§ 3 } g If success:

: 637 0631 1! INDEX = number of the index record to remove (0=first)
: 638 06 § 1! KEY_POINTER - points to key part to delete

: 639 06 1! KEY_BUFFER_1 = contains the oxfandcd key bucket previous
: 640 06 1} to one being deleted

: 221 82 S } : KEY_BUFFER_2 - contains the expanded key of one being deleted
5 g:g 8% ? } : It failure the contents of the above registers are undefined.
; 225 §§2o } ! Routine Value:

3 g:z 1 } : TRUE if down pointer found, else FALSE

;649 i 1 | Routines Called:

: 650 & 1!

: ggl 5 } : None.

: 6Si 9 1 i Side Effects:

: 654 s 1!

: 655 1! None.

48 ]

;65 i

3 653 ii BEGIN

: 660 &

: 661 5 DEFINE_CTX;

3 66; 59 DEF INE_BUCKET;

: 66 5 DEF INE"KEY_DESC;
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13
éIECLAlH g:g }832 ig: ; VAX=11 ss=32 V

DEFINE_KEY_POINTER;

VBN_OFFSET

VBN_FREE_SPACE;
: Initialize the index which counts which record in is the down pointer.
INDEX = 0;

! Initialize offset in bucket to word containing VBN free space pointer
: SO we can get the actual offset to the VBN free space.

VBN_OFFSET = .CTX [ CTXSW_BUCKET SIZE)-2-2;

' Get actuai offset of VBN free space.

VBN FREE_SPACE = .BUCKET [ .VBN_OFFSET, 0, 16, 0 J;

' Now point to first VBN down pointer.

VBN JOFFSET = _VBN_OFFSET = ( .BUCKET [ BKTSV_PTR_SZ ] + 2);

' Scan the VBNs to see if the down pointer is in this bucket.
gngL .VBN_OFFSET LEQA .VBN_FREE_SPACE

; Compare the VBN value pointed to by VBN_OFFSET.
IF .BUCKET [ .VBN_OFFSET,0,((.BUCKETL BKTSV_PTR_SZ ] + 2) + 8), ovgneow
THEN -

! We found the down pointer, so point KEY_POINTER to the key part
' of the index record.

IF KEY_DESCL KEYSV_IDX_COMPR ]
THEN
BEGIN
! The he‘ is compressed, so each key part is variable length.
i INDEX 1s currently an index to the right record, so
: skip over that many records.
xEv_POthER = .BUCKET + BKTSK_OVERHDSZ;
5gcn I FROM 0 TO .INDEX - 1
BEGIN

! Move the key into the buffer while expanding
i the rear end truncation

key_pointer

4.0-742
DISKSV H STER: [CONV SRCIRECLREC. 832 1 (;9
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GET_DOWN
A
4
L
&
4
&4
4
4
4
4
&4
4
&
4
4
5
4
0732 4
0733 4
073 4
0735 4
0736 4
4
'A
&4
0740 4
07641 &
074
074
074
074
074
074
074
074
§
0
0
0
6
64
770

13
} 239-13& (008 DISdindadteR?

ilict : '

key_buffer_1

tillod in when C'O { aluaz tho first key
in the buck

CHSCOPY( src_Llen, src, fill, dst_Llen, dst )

CHSCOPY( .KEY_POINTER [ KEYRSB LENGTH 1],
.KEV POINTER ¢ 2

.REY POINTER 1+
lnren KEYRSB_LENGTH ] ),
.KEY_DESC ( KEVSB YsZ ] -
Ulnren KEYR$B_FRONT_COUNT ],
KEY_BUFFER_ 1 o 2
~.KEY POINTER [ KEYRSB_FRONT_COUNT 1] );

; Skip to the next key.

KEY_POINTER = .KEY_POINTER + 2 +
.KEY_POINTER [ KEYRSB_LENGTH )

Yo momomimimomomomms momoens wme e

Fill in ko{ buffer with the expanded CURRENT ke;

first by stuffi ng he front compresed characters from

the previous key i ¥ buffer_1 then copy the rest

from the bucket extond ng it if rear truncation is present

key_pointer

key_buffer_1

key_buffer_2

filled in when from key_buffer_1
or from .key_pointer when c=0 ~

Fill in the front if there were front compression

CHSMOVE ( .KEY POINIER [ KEYR$SB_FRONT_COUNT 1],
KEY _BUFFER_1 + 2,

Y I I eI i e 0 e O O RS O S WS O - - - -

C

v
C

‘o
0NV . SREIRECLREC 832, 19°

&
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CLSREC VAX=11 CONVERT/RECLAIM 1?-50 «1984 23:59:4 VAX=11 Bliss=32 Vv4.0-742 p
38«-335 GET_DOWN_POINTER 1&-503-133& f;=14:o§ olsxsvnsnAsren:tcouv.saCJRECLnec.asz:fg' (;g
; i ;ii KEY_BUFFER_2 + 2);
g 44 ;7g ; Copy the rest of the key and expand the rear if neccessary
28 i 779 CHSCOPY( .KEY_POINTER [ KEYRSB_LENGTH 1,
: 7 77 KEY"POINTER + 2,
2 ( 773 .C .REY POINTER + 1 + .xiv_Pothen [ KEYRSB_LENGTH ] ),
; 785 77 .KEY_DESC [ KEYSB_KEYSZ ] =
: 7 7 ? KEY_POINTER [ KEYRSB_FRONT_COUNT J,
: 78 7 KEY_BUFFER_2 + 2 +
: ;§§ ; § .KEY_POINTER [ KEYR$B_FRONT_COUNT ] );
: 7 RETURN RECLS
: ;31 ; g E:DQ ECLS_SUCCESS
E ;34 ; 8 ELSE
P 795 87 9
; ;g? 0;91 BEGIN
:' z‘éﬁ gﬁ% E I:: ::zyi:on?sng?npnsud. so the key part is fixed Length
: 801 795 & KEY_POINTER = ( .INDEX * .KEY DESCL KEY$SB KEYSZ ] )
; ggg §;gg + .BUCKET + BRT$K_OVERHDSZ;
: 804 798 RETURN RECLS_SUCCESS '
R iy
: 807 0801
2 B
: 810 § 04
: 8}1 ogos : This was not the down pointer, so get the next down pointer
: S1§ 8389 VBN_OFFSET = VBN _OFFSET = ( .BUCKETL BKTSV_PTR_SZ ] + 2 );
: 814 808 INDEX = .INDEX + T;
; 815 8 09
1 0815 _—
;818 081; ! If we fell through the UNTIL - DO loop it means we didn't find a down
3 13 Og}‘ : pointer.
§ §§1 §g}s RETURN RECLS_FAILURE
: § 0319 END;
00FC 8F BB 00000 RECLSSGET DOWN POINTER::
- POSHR ~ 0;5<n§ R3,R4,R5,R6,R7> 0602

0ert

0c ¢ SUBL2 # P
0000°* CF 7 CLR NDE X
4 A MOVZWL B8(CTX), VBN OFFSET
é 03 C ¥ SUBL2 #3, VBN _OFFSET




CLSREC VAX=11 CONVERT/
V94-000 GET_DOWN_POINTE

04 AE 00 A9

50

50

51 6649

54

57

51 01 A7

09

0000° CF
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; Routine Size:

204 bytes,
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&
08 At
04 §§
28 AE
10
38
6t
]
38
30
31
31
02 A8
#
0000* CF
i
31
02 A8
50
gO
30
56
56
5€

Routine Base:

7649 gf
8§ &
% 8§
4 i
i
«t ¥
4 i
0 A oA
;g g2
oogg'cr: o
o g o
68 9A
14 gg 9%
0000'(!82 '

14 AB

0000* CF (4

0E A940 8
01

o if 1

0055' ef
g 8
00FC E BA

$CODES + 01BE

1
-t
4=$

3

oh-108¢ 12:12:68

#2, SP
#*M<R2 ,R3,R4 RS ,R6 ,R7>

i

VAX=11 Bliss=32 V&.0=742 P 3
oxsxsvnsnnsreu:tcouv.saCJNECLnec.aJZ;?°' (;)
«(VBN_OFFSET)CBUCKET) : 0675
aisr)t. ¥gu ragg ;rAce : -
#3, #2, 13(BUCKET), 4(SP) : 0679
4(SP), VBN _OFFSET, RO :
-2(R0S, VBR_OFFSEf ;
gn,orfser. VBN_FREE_SPACE : 0683
z§6 4539). RO : 0688
#0, RO, (VBN_OFFSET)CBUCKET], R1 :
Ri. VBN : 0689
#3, 16(KEY DESC), 5% : 0695
14(R9), KEY_POINTER ; § 03
210 l . 705
(KEY_POINTER), R2 : 0728
R2, REY POINTER, R7 : orgg
1(KEY_POINTER), RO ;07
£§(xs¥_oesc>. R1 :
R2. 2(KEY POINTER), 1(R7), R1, = ;0734
KEY ?urr R_1+2[RO0] ;
2(R?). KEY POINTER : 0739
{NoEx. 1. 3% 3
(KEY POINTER), R7 : o7;g
R7, KEY BUFFER 142, KEY_BUFFER_2+2 : 07
(KEY_POINTER), RO : 0776
%9“5{-’55°’- R1 : 0780
RO, 2(KEY poxnrgn) 1(RO)CKEY_POINTER], = : 0781
R1, KEY_BOFFER_2+2[R7] :
gs : 0790
o<xev,ossc). RO : 0795
{noex R ;
A(au£xsr)[a03. KEY_POINTER : 0796
#, R : 0798
2?sp) VBN _OFFSET, RO : 8‘39
-2(R0S, VBR_OFFSEf :
1nnex ; 8300
$ : 06
a? : 081
2 : 081
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VAX=11 CONVERT/RECLAIM
CHECK_LAST

14
12-599-19 b i3:59:46 VAX=11 Bliss
14-Sep=1984 12:14:0 DISKSVMSMAST

Q&QBAL ROUTINE"RECLSSCHECK_LAST : RL$JSB_REG_8 =

This routine checks to see if the current index record
indexed b{ INDEX is the Last record in the bucket and if it
Y

- address of buffer containing bucket
= current index record (set by get_down_pointer

- index record IS the lLast in bucket and there more
then one record in the bucket

index record IS NOT the lLast in bucket or is the
only one in the bucket

§§}§ } XSBTTL °CHECK _LAST'
1.

88 1 } ; Functi LD ipti

! Functional Description:

0858 1 i

0826 1!

d 1 b ,

! s the only recor

08 ? 1!

Og 3 } E Calling Sequence:

88 0O 1! CHECK_LAST();
08;1 1!

08 g 1 ! Input Parameters:
0833 1! none

083, 1!

0835 1 ! Implicit Inputs:
083 1!

0837 1! BUCKET

0838 1! INDEX

0839 1!

0840 1 ! Output Parameters:
0841 1!

0842 1! None.
0843 1!
08446 1 ! Implicit Outputs:
0845 1 ! none
0846 1!
0847 1 ! Routine Value:
0848 1 !
0849 1! RECLS_SUCCESS
0820 1!
Og 1 31 RECLS_FAILURE =~
8 Si 1!

853 1!
0854 1 ! Routines Called:
0855 1!
0856 1 ! None.
0857 1!
0858 1 ! Side Effects:
8859 1!

860 1! None.

861 1!

86;  foe

gg‘ ] BEGIN

0865

869 DEFINE_CTX;

DEF INE_BUCKET;

3 DEF INE"KEY_DESC;
8¢9 DEF INE"KEY_POINTER;
371 LOCAL

7; VBN _OFFSET
g;‘ LAST_VBN_OFFSET;

2 _V4.0-742
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=S 3-19 4
d(

! We can always reclaim the first rec even if its the lLast because the

; whole bucket will then be recalimed)
iF .INDEX EQL 0
THEN

RETURN RECLS_FAILURE;

! Initialize offset in bucket to word containing VBN free space pointer
; SO we can get the actual offset to the VBN free space.

VBN_OFFSET = ,CTX [ CTXSW_BUCKET_SIZE ] - 2 - 2;

5 Get actual offset of the Last VBN (free_space pointer + 1)
LAST_VBN_OFFSET = .BUCKET [ .VBN_OFFSET, 0, 16, 0 ] + 1;

' Now point to the current VBN down pointer found by get_down_pointer

van _OFFSET = .van OFFSET =
BUCKET [ BKTSV_PTR_SZ ] # 2 ) ~ ( .INDEX ¢+ 1) );

: If they are equal then this is the Last record in the bucket
IF .VBN_OFFSET EQLU .LAST_VBN_OFFSET
: RETURN RECLS_SUCCESS
RETURN RECLS_FAILURE

r

END;
0C BB 00000 RECLSSCHECK LAST::
PUSARR  #* H<R2 R8>
50 0000° 5: ? 000 gggt NDEX R
S S8 AA 3 MOVZuL Og(CTX) VBN _OFFSET
S 03 SUBL 2 FSET
7349 1 PUSHAB =(VBN DFFSEI)[BUCKE!]

52 9 1 MOVZWL @a(SP)¥ LAST VBN _OFFSET

1 !NC% LAST g
g% } EXT g ' o (BUCKE!)

R
MULL R1, RO
SUBL RO, VBN OFFSET
CMPL ¥2N OFFSET, LAST_VBN_OFFSET

MOVL #, RO
BRB 2%

RO
#*M<R2,R3>

;

50

OV ON =2 VNNO -

o
Ny —
L L
-l
o
o
o

(={=d=d=l=l=l=l=]
8888888888@000@0@0
83
NVHA =M OO AN =M OOOMNO
>
o
=4
P

VI St ON =2 SO O O™ TN

OWO =V =VOMODOMO

-1936 ¥3:59:4§ VAX=11 Bliss=32 V4.0-742
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; Routine Size: 56 bytes, Routine Base: $CODES + 028A

X=11 BLiss=32 V4.0-742 Page 26
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RECLSREC VAX=17 CONVERT/RECLAIM 1§-So -1984 23:59:4 VAX=11 Bliss=32 V&4.0-742 Page 27
Vv -008 COMPARE _POINTER 14-508-19g4 ig:14:0§ DISKSVHSHASTER:[CONV.SRCJRECLREC.BSZ:1g (8)
: 913 S 1 XSBTTL 'COMPARE PO‘NTER'
: g}g 2 9 } Q%QBAL ROUTINE RECLSSCOMPARE_POINTER ( VBN ) : RL$JSB_REG_8 =
3 91? 908 1!
: 3}5 3?3 } ; Functional Description:
s 919 911 1! This routine compares the next index record pointer in the current
s 920 91§ 1!} buffer for the specified down pointer if necessary is reads in the next
: g 1 Og}k } ; bucket in the index chain to get the next index record.
3 3 2 3}5 } ; Calling Sequence:
s 925 919 1! COMPARE _POINTER( VBN );
: 926 918 1!
s 927 919 1 ! Input Parameters:
: 928 0920 1!
: 929 0921 1! VBN = VBN to compare
: 930 09 g 1!
s 9% 09 1 ! Implicit Inputs:
3 93§ 0924 1!
: 93 0925 1! BUCKET - address of buffer containing bucket
3 3%2 83 9 } ; INDEX - current index record (set by get_down_pointer
s 936 89 8 1 ! Output Parameters:
: 937 929 1!
: 938 09350- 1! None.
s 939 0931 1!
: 940 093§ 1 ! Implicit Outputs:
;941 0933 1! none
: 9% 0934 1!
: 9% 0935 1 ! Routine Value:
: 944 09;6 1!
s 945 0937 1! RECLS_SUCCESS =~ next index record DOES noint to the vbn
3 329 } : RECLS_FAILURE =~ next index record DOES NOT point to the vbn
: 948 1 ! Routines Called:
: 949 1!
s 950 1! None.
: M 1!
: 9S§ 1 ! Side Effects:
: 95 1!
: 954 1! None.
s 955 y3
: 95? 1 le=
3 92 1
: 958 BEGIN
: 959
: 960 DEFINE_CTX;
: 961 DEF INE_BUCKET; |
: 96; DEF INE"KEY_DESC; |
: 96 DEF INEKEY"POINTER; '
: 964 l
i 968 LOCAVen_orrser
H |
; % LAST_VBN_OFFSET, |
: 323 SEARCH_BOCKET : REF BLOCK [ ,BYTE J; :
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RECLSREC VAX=11 CONVERT/RECLAIM 1;-50 -1984 :59:4 VAX=11 Bliss=32 Vv4.0-742 Page 28
VS‘ COMPARE _POINTER 14-503-1886 $2:14:0§ DlSKSVHSHASTER:[CONV.SRCJRECLREC.832:’9 (S)
: 970
s N ggg ! Initialize offset in bucket to word containing VBN free space pointer
. g; 32; ; SO we can get the actual offset to the VBN free space.
: 3;g gg VBN_OFFSET = .CTX [ CTXSW_BUCKET_SIZE ] = 2 = 2;
E 3; 36 ; Get actual offset of the Last VBN (free_space pointer + 1)
; g;g 379 LAST_VBN_OFFSET = .BUCKET [ .VBN_OFFSET, 0, 16, 0 ] + 1;
; 33? 9;5 ; Now point to the current VBN down pointer found by get_down_pointer
: 98 97 VBN_OFFSET = VBN OFFSET -
: 33‘ 3;5 ( ( .BUCKET [ BKTSV_PTR_SZ J + 2 ) = ( .INDEX + 1) );
E 985 97 ! If this is not the end of the pointers then check the next vbn here
3 339 83; ; else read in the next index bucket and search there
: 988 0980 iF .VBN_OFFSET NEQU .LAST_VBN_OFFSET
: 989 0981 THEN
: 33? 8gg BEGIN
: 99; 0984 ! Search in the current bucket
: 99 0985 !
;. 99 9 SEARCH_BUCKET = .BUCKET;
s 995 98
: 996 0988 ! Point to the next vbn
s 997 0989 !
: 998 0990 & VBN_OFFSET = .VBN_OFFSET - ( .BUCKET [ BKTSV_PTR_SZ ] + 2 )
: 999 0991 &
: 1000 099 END
3 }881 833‘ ELSE
; }88% 0995 ; Get the next bucket (if this is the Last in the chain return failure)
: 1005 §99$ iF .BUCKET [ BKTSV_LASTBKT )
3 1886 998 THEN
: 1007 0999 RETURN RECLS_FAILURE
: 1008 1000 LSE
; 1009 1001 BEGIN
: 1010 100§
3 }8}1 }88‘ ; Search in the search buffer
; }815 }88; SEARCH_BUCKET = .RECLSGL_SEARCH_BUFFER;
: }815 }§§8 ! Read in the next index bucket
; 1019 1 CONVSAB_OUT_RAB [ RABSL_UBF ] = .SEARCH_BUCKET;
: 1018 1010 CONVSAB_OUT_RAB [ RABSW-USZ ] = .CTX [ TTx$W EUCKET SIZS )
: }813 1011 CONVSAB-OUT-RAB [ RABSL-BKT ] = .BUCKET [ BKTSL_NXTBKT J;
E }0 1 } }2 $SREAD( RAB=CONVSAB_OUT_RAB,ERR=CONVSSRMS_READ_ERROR );
: }g g } }S ; Point to the first vbn there
: 1025 1 19 VBN_OFFSET = .CTX [ CTX$W_BUCKEY SIZE ] = 2 = 2 =
: 1026 1018 & ( .SEARCH_BUCKET [ BKTSV_PTR_SZ ] + 2)
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RECLSREC VAX=11 CONVERT/RECLAIM 1§-so -1984 23:59:4 VAX=11 Bliss=32 V&.0=742 Page 29
v -035 COMPARE _POINTER 14-5.3-1954 73=14=o§ olsxsvnsmsrenztconv.snc:lnecu.nec.ssz;fg (5)
: 1027 1 18 4
: 10 3 1 END;
: 18 1021
: }0? } i : Compare the vbns
: 10 ; 18 & if .vBN EQLU
; }8 }0 5 - *SEARCH_BUCKET [ .VBN_OFFSET,0,((.SEARCH_BUCKETL BKTSV_PTR_SZ 1+2)+8),0 J
: 1035 10 9 RETURN RECLS_SUCCESS
: 10 1028 LSE
: 1037 1029 RETURN RECLS_FAILURE
: 1038 18 0
: 1039 1031 END;
LEXTRN SYSSREAD
1C 88 00000 RECLSSCOMPARE_POINTER: :
PUSHR™ m«nz R3.R4> : 0906
54 58 AA 3C 00002 MOVZWL 8s(crx$ R4 : 0966
52 74 DE 80006 MOVAL  =(R4), VBN OFFSET ;
6249 9F 00009 PUSHAB (VBN _OFFSET) CBUCKET) : 0970
53 9 3¢ 0000C MOVZWL @(SPT+ LAST vsn OFFSET ;
23 96 000OF INCL LAST VBN g :
51 0D A9 gz 03 E° 00011 EXTZV lz. T (BUCKET) R1 : 0975
1 02 €0 00017 ADDL 02 :
50 0000* CF 01 €1 9001A ADDLS  #1, xuoex RO ;
50 ;1 €4 000 g MULL?2 R1. RO ;
s; 0 €2 0% SUBLZ RO, VBN OFFSET ;
5 sg D1 00026 CMPL VBN OFFSET LAST_VBN_OFFSET 0980
g 13 00029 BEQL 1% ;
53 9 00 000.8 MOVL  BUCKET, SEARCH _BUCKET : 8986
52 5 ¢ 38§$ ggguz 51. VBN_OFFSET : 0990
50 0D A9 E8 000 ; 18: BLBS  13(BUCKET) : 0997
53 00006 gr ) oog MOVL  RECLSGL seiacn aurrgn SEARCH ngcxer : 1005
00006 CF 3 p0 0003C MOVL SARCN BUCKET conv Aé : 1009
00006 CF AA B0 00041 MOVW (CTXY, CONv$ : 1010
00006 CF os A9 DO 00047 MOVL (BUCKET), CONV xs oo aAa+ 56 : 1011
00006 CF 9F 0004D PUSHAB CONVSSRMS ‘READ ERROR : 1013
00006 CF 9F 00051 PUSHAB CONV T_RAB ;
000000006 0 ¥8 00055 CALLS #2, SYSSREAD ;
50 0D eg g Es 882 55;5 : . :i. 13(SEARCH_BUCKET), RO : 1018
5 FE A 55 MOVAB =2(R0). '? P 1017
50 00 A3 0 8 EF A 28: EXTZV #3, #2. 1 (seaacu _BUCKET), RO : 1025
C4 g MULLZ # ;
8 10 €0 0007 ADDLZ #16, RO :
51 6243 00 EF 00074 EXTIV 00. RO, (VBN_OFFSET)[SEARCH_BUCKET], R1 :
51 10 AE ?1 7C 3:25 , Ri :
50 1 25 MOVL #1, RO P 1029
8 BRB % ;
D4 38: CLRL RO ;103
ic 3‘ 9 4$: POPR  #*M<R2.R3.R&> :
5 (1] 3
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VAX=11 CONVERT/RECLAIM
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SWING_POINTER - MSMASTER: LCONV. SRCIRECLREC.B32
1033 1 BSBITL *SWING_POINTER'
} GLOBAL ROUTINERECLSSSWING_POINTER ( VBN ) : RLSJSB_REG_8 NOVALUE =
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! Functional Description:

This routine will stuff the VBN into the curretn index record
Calling Sequence:

SWING_POINTER( VBN );
Input Parameters:

VBN = VBN to stuff
Implicit Inputs:

BUCKET = address of buffer containing bucket
INDEX = index record to stuff

Output Parameters:
None.

Implicit Outputs:
none

Routine Value:
none

Routines Called:
None.

Side Effects:
None.

BEGIN

DEF INE_CTX;
DEF INE“BUCKET;

DEF INE"KEY_DESC;
DEF INEKEYPOINTER;

LOCAL
VBN_OFFSET;

! Point to current VBN down pointer
! Which is: Bucket size - 2 bytes for check and spare - 2 bytes for
; vbn freespace pointer - index into the array

VBN_OFFSET = ,CTX [ CTX$W BUCKET SIZE ) = 2 - 2 -
( .BUTKET [ BKTSV_PTR_SZ 1 # 2 ) « ( .INDEX ¢+ 1 );

Page 31
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VAX=11 CONVERT/RECLAIM
SWING_POINTER
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49 bytes,

; Stuff the vbn

14
LR g ma

$s=32 V4.0-742
DISKSVMSMASTER:

CCONV.SRCIRECLREC.B32;

BUCKET [ .VBN_OFFSET,0,( ( .BUCKET [ BKTSV_PTR_SZ J ¢+ 2 ) = 8 ),0 J = .VBN;

RETURN
END;
g
0000°* gf
{
33
30
32
31
00

Routine Base:

0C 88 00000 RECLsssuxngnP01u;Eg<
o; 5 000 EXTZV 05 13<aucxsr> R2
02 A 5 000 MOV ﬁz
1 ¢1 0000 ADDL 01. xuoex. RO
1 gk 081 MULL2 R1,
58 AA 001 MOV ZWL aa<crx> R3
sg €3 00019 SUBL3 , R3, RO
0 ; 0010 SUBL2 - van OFFSET
03 0020 ASHL R2, "R1
10 O 00024 ADDL2 0 6 ri
0C AE FO 00027 INSV VBN, vo R1, =(VBN_OFFSET)[BUCKET]
0C BA 000 5 POPR  #*M<R2,R3>
05 000 RSB

SCODES + 034E

P —

739 18
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R RECORD }E p198¢ 1330108 DISKSUmSMASTER: cLoY. SAedmecLRec.832- 1% (17)

X _RECORD

essLik C

m»
D

o 00OV OV OOV OO O® 00000000 NN NNNNNNNNO OO VWAV
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]

=

o

BEGIN
CAL
OFFSETY ! Offset to th’ vbn_freespace pointer
VBN _S1ZE, i Size o vb bn in ¥tos
BIT ! f vb n inb
FREE§PACE. ! Po ntor offset to the top of the vbns
VBN ! Pointer offset to the vbn to remove
SOUQCE. ! Pointer offset to the Source
DEST; ! Pointer offset to the Destination

; Find the offset to the vbn freespace pointer
OFFSET = .CTX [ CTXSW_BUCKET_SIZE ] - &;
; Get the size of the vbns in bytes
VBN_SIZE = .BUCKET [ BKTSV_PTR_SZ ] + 2:
; Now get it in bits
BITS = ,VBN_SIZE + 8;
5 Find the top the vbns
FREESPACE = .BUCKET [ .OFFSET,0,16,0 J;
E Find the vbn we want to remove
VBN = ,OFFSET - ( .VBN_SIZE * ( .INDEX + 1) );
; Set up the destindtion
DEST = .VBN;
5 And the source
SOURCE = .DEST - .VBN_SIZE;
; Do each vbn
gglLE .SOURCE GEQU .FREESPACE
BEGIN .
; Copy the vbn to the new location
BUCKET [ .DEST,0,.BITS,0 ] = .BUCKET [ .SOURCE,0,.BITS,0 J;
' Update the pointers

otsr = .DEST = ,VBN_SIZE
SOURCE = ,SOURCE = -VBN_ §126

NININD) b b cd b cd i i e s el ) il D D el sl el ) D ) e D D D D D D D D D D e

Y e eSS R B SRR S S8 SRS P S S BB SR B R R C B YNNI IS SRR
— e el ol e ) el ) i el el e D ) e ) D D D ) D e D D D D D D D D D D D D D D D e D D D ) e e e
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e 000 0000000000 0000000000000 000 0000000000000 000NN RINIENINENINERENIBENIVININIBIBEE BRIV VEBIEVe DR BeRe BB e
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50
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VAX=11 CONVERT/RECLAIM 1?- =-1984 23:59:4 AX=11 BLi
REMOVE _INDEX_RECORD 1‘-§:8-138‘ ;3:16:0§ gxsxsvnghnstsazt
END;

; Update the freespace pointer in the bucket
BUCKET [ .OFFSET,0,16,0 J = .FREESPACE + .VBN_SIZE;

! 1f freespace pointer points to the bottom of the bucket it is

' cnptl s0 don't bother to fool with the data part (but do set
; the keyfreespace pointer)

iF .BUCKET C .OFFSET,0,16,0 ) EQLU .OFFSET
THEN

BEGIN
BUCKETC BKTSW_KEYFRESPC ] = BKTSC_OVERHDSZ;

o4
]

g Squeeze out the KEY part of the index record

BEGIN

OCAL
DELETE_SIZE:

! Calculate from address and size for squish differently if index is
; compressed or not. Also do KEYFRESPC depending on index compression.

IF_.KEY_DESCC KEYSV_IDX_COMPR )
THEN

BEGIN

LOCAL

N

WM = OO 00 N V1 55 N = O 0 00 NOM WV S N = O 0 00 NOM NS AN —

B85 B B 8 85 B NN N N NN A A AN NN NI NI PO NINININ) = b b o b b e e b
wVis~

EXT : REF BLOCK [ ,BYTE J; ! Pointer to the next key

! to replace the deleted one

! The size of the deleted spac: is size of the old record MINUS

! the DIFFERENCE between the size of next record before compression
! and the size of it after compression.

g First save the size of old record.

DELETE_SIZE = .KEY_POINTER [ KEYRSB_LENGTH ] + 2;

! Next thing to do is recompress the next record after the current

; 22; ?:’stort by coping it into key_buffer_?2 (where the to-be-deleted
NEXT = .KEY_POINTER ¢ .KEY_POINTER [ KEYRSB_LENGTH ) + 2;

g If there IS a next key then copy it and compress it

IF .NEXT LSSU ( .BUCKET ¢ .BUCKET [ BKTSW_KEYFRESPC ] )
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VAX=11 CONVERT/RECLAIM
REMOVE _INDEX_RECORD
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15-Sep-1984 23:59:42  VAX=11 BLiss 32 ¥4.0-742
13801088 §3:30:88 DrScavmenatteacctons T necLnec 032 190 (138
THEN

BEGIN

LOCAL OLD_SIZE;

: Save the old size of the next record

OLD_SIZE = .NEXT [ KEYRSB_LENGTH J;

' Copy the next key while expanding the rear

CHSCOPV( .NEXT o 5!1!‘! LENGTH 1],
o .NExt K NEXT [ K vasa LENGTH ])
.KEY_DESC [ xevia KEYSZ i T [ KEYRSB_FRONT_COUNT 1,
KEY_BUFFER_2 + 2 ¥ .NEXT xevasa _FRONT_COONT ] 7;

; Recompress the new key in key_buffer_2

RECOMPRESS_RECORD();

! Key_buffer_2 now contains a compressed key (w/control info)
; so move it into the bucket

CHSMOVE ( .KEY aurren 2 [ KEYRSB_LENGTH ] + 2,
KEY BUFFER 2,
KEY PO!NTEn ):

' Now we can figure the ammount of space deleted

DELETE SI2E = .OELEIE SIZE -
-KEV_POINTER [ KEYRSB_LENGTH ] - .OLD_SIZE );

' We must now move the rest of the keys in the bucket
cHSHOVE( ( .BUCKET + .DUCKET C Bgttv KEYFRESPC ] )

xr [ KEYRSB_LENGTH 1 + 2 ),
NEXT + .NEXT [ xevasa LENGTH' J
.KEY_POINTER + .KEY_POINTER [ xsvnsé _LENGTH ] + 2 )

END;
END
BEGIN
; Set the delete size
DELETE_SIZE = .KEY_DESC [ KEYSB_KEYSZ J;
; Move the rest of the keys

CHSMOVE( ( .BUCKET + .BUCKET [ BKTSW KEYFRESPC ) ) -
( .KEY POINTER ¢ .KEY oegc [ KEYSB_KEYSZ ] ),
.KEY_POINTER + .KEY_DESC [ xevsa_xs 2 1.
.KEY_POINTER )
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RECLSREC VAX=11 CONVERT/RECLAIM 19-5- -1984 23:59:4 VAX=11 Bliss=32 Vé&.0=742 Page 37
V -008 REMOVE _INDEX_RECORD 14=Sep 1934 ?3:14:03 olsxsvnsnAsren=tconv.snaneanec.asz;1° (1?)
; } B } 5 END;
: } 8 } 2 : Update KEYFRESPC since we squished out a key
; } 3 } 3 BUCKET [ BKTSW_KEYFRESPC J = .BUCKET [ BKTSW_KEYFRESPC ] = .DELETE_SIZE
P 1341 1339 END;
i1 g 1 g
P 1 1 RETURN
P 1344 1334
P 1345 1335 1 END;
00FC 8F BB 00000 RECLSSREMOVE xuoex ne ong
PUSHR R4 ,RS,R6,R7> ; 1098
SE 04 gz 00004 SUBLZ P ;
51 58 AA 5 0007 MOVZWL o icrx» OFFSET : 1170
51 og t2 00008 SUBL 2 §er , :
52 00 A9 og 03 EF oooi EXTZV 2, 13(BUCKET), VBN_S1ZE P 1174
s o; ;o 0001 ADDL2 . an SIZE ;
56 52 03 78 00017 ASHL w VBN~ size BITS : 1178
7149 gf 0018 PUSHAB =(OFFSET) [BUCKET) : 1182
55 9 3¢ oo1§ MOVZWL a(s )+ FREESPACE ;
50 0000* CF 1 €1 000 ADDL INDEX, RO : 1186
50 s €4 00027 MULL vsu sxze RO ;
50 51 €3 0002A SUBLS RO, OFFSET, VBN :
53 0 og 002€ MOVL VBN, DEST : 1190
54 §3 2 €3 00031 SUBLS VBN SIZE, DEST, SOURCE : 1194
55 12 g} 88 5 18: gf?%u Sguuce. FREESPACE : 1198
50 6449 56 0 EF 0003A EXTZV IO a TS, (SOURCE)[BUCKET], RO ;1204
6249 56 og 0 FO 00040 INSV é TS, (DEST)CBUCKET) ;
5 €2 00046 SUBL vau sxi E, § : 1208
54 52 ¢ 3049 SUBLZ VBN SIZE. sounce ;1209
E7 1 8kc BRB 18 - ;
6149 9F 00 4; 28: PUSHAB (OFFSET) CBUCKET) i 1215
9€ 55 52 Al ADDW3 vgn SIZE, FREESPACE, a(SP)+ ;
51 6149 10 s 8 3 8525" “#16, (OFFSET)CBUCKET], OFFSET P 1221
064 A9 g ) MOVW 014 4 (BUCKET) P 1224
00 61 BRY : 1223
6E 10 03 E1 38: BB( 16(KEY oesc) P 1044
5 68 9A 9 MOVZBL cxév POINTER) , ab ;1257
5 o; A0 9E 9 v (ROY, DELETE 5 ;
21 8 A04LB 9E MOVAB 2(R )txev PO NTER NEXT : 156;
90 & A 7 MOVZWL &(BUCKET) : 126
gg 9 ADDL2 BU cxer n6 ;
1 g 7¢ CMPL  NEXT, ;
0 1€ 0007F BGEQU ;
N 9A 1 MOVZIBL (NEXT), R3 ;1275
2 og MOVL n;. oL6 S12€E ;
6E 1 ADDL3 RS, uexr. (SP) : 1551
g ?1 Al 9 MOVZBL 3("5 XT), RO P 1282
& AB 9A f MOVZBL 20(KEY_DESC), R2 ;
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; Assume no compression

KEY_BUFFER_2 [ KEYRSB_FRONT_COUNT ] = 0;

LENGTH = .KEY_DESC [ KEYSB_KEYSZ J;

; If this is NOT the first key in the bucket do front compression
IF_.INDEX NEQU 0

THEN

; Find the first position where the two keys differ
ggca 1 FROM 0 TO ¢ .LENGTH = 1 ) BY 1

5 If the characters are not equal we found the end
iF ¢ .KEY_1 [ .1 ] NEQU .KEY_.2 [ .1 1)
THEN
BEGIN
; I is now the number of compressed characters
KEY_BUFFER_2 [ KEYRSB_FRONT_COUNT J = .I;
; Shorten the length
LENGTH = .LENGTH = .I:
; It there was some compression move the key a little
IF .1 NEQU 0
THEN
CHSMOVE( .LENGTH, KEY_2 + .1 ,KEY_2 );
EXITLOOP
END;
; Do rear end truncation
WHILE .LENGTH GTRU 1
DO

; If the trailing characters are the same cut it short
%aEﬁKEY_Z [ .LENGTH - 1 ] EQLU .KEY_2 [ .LENGTH - 2 ]
LENGTH = .LENGTH - 1
EXITLOOP;
g Set the length field
KEY_BUFFER_2 [ KEYRSB_LENGTH ] = .LENGTH;
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RECLSREC VAX=11 CONVERT/RECLA!H E-Se -1984 : VAX=11 Bl iss=32 Vé4.0=742 P 41
b 3 13 RECOMPRESS_RE COR 12301088 $3:30388 DN SkammA e A ey Tad e cLrec 327 190 (15)
}22 }251 % RETURN
s 1464 14 § END;
KEY_1= xev,aurren_14g
KEY 2= KEY BUFFER™2+
00FC 8F BB 00000 RECOMPRESS RECORD:
PUSHR o~n<n2 R3,R4,RS,R6,R7> ; 1338
SE 04 32 004 SUBLZ ;
0000* CF 94 00007 CLRB Sv aurrsn 241 P 139
56 14 AB 9A 00008 MOVZBL 2 (lev _DESC), LENGTH : 139
0000' CF D 8or TSTL ;1402
E 1 13 REQL ;
2; D0 13 MOVL LENGTH (SP) : 1407
1 cg i MNEGL #1, | ;
z; 11 00018 BRB 28 ;
0000° CF47 oooo'cr?7 g1 8 }g 1$: S?:E 55v_1t11. KEY_2C1) P 1412
0000' CF 57 90 00028 MOVE_ I, KEY_BUFFER_2+1 1418
56 57 €2 0002D SUBL2 I, LENGTH : 1452
57 05 000 TSTL P 1426
0OF 13 000 BEQL $ ;
0000" CF 0000°CF&47 56 g 00 MOVC3 5snern KEY_2C1], KEY_2 P 1428
0¢ 11 00030 BRB $ P 1414
DA 57 ge F2 0003F 2%: AOBLSS (SP), I, 1s P 1412
01 6 D1 00043 38: CMPL LENofH : 1436
OF 18 00&8 BLEQU 4$ ;
0000° CF46 oooo'cr42 g1 88&1 g::g xgv 2-1CLENGTH], KEY_2-2CLENGTH)] P 1441
B o; ooogg DECL keucrn P 1443
¢ 11 0005 BRB 5 ;
0000° CF 6 90 00057 4$: MOVB_  LENGTH, KEY_BUFFER_2 P 1449
SE ga €0 0005¢C ADDL2  #4, SP : 1453
00FC 8F BA 8oosr POPR  #*M<R2,R3,R4,RS,R6,R7> ;
05 00063 RSB ;
; Routine Size: 100 bytes, Routine Base: SCODES + 047C
1465 1454 1
1466 1455 0 END ELUDOM
: PSECT SUMMARY
E Name Bytes Attributes
:  SOWNS 329 NOVEC, WRT, RD ,NOEXE,NOSHR, LCL. REL. CON.NOPIC.ALIGN(S)
: SCODES 1248 NOVEC.NOWRT. RD . EXE.NOSHR. LCL. REL. CON.NOPIC.ALIGN(2)
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QS VRECORD " 1§:§:8:l382 $3:30:08  BISKEmSMASTER: clohv. SRedecLRec.832: 19 (13 |

oS

N T N\ T Symbols ====ce=- Pages Processing

: File Total Loaded Percent Mapped Time

: _szsssow\%a: svsuansa.um 18619 34 0 1000 00:01.9

s _$255%D0UA28:LCONV.SRC CONVERT.L32;1 165 1" 6 1 00:00.2

: COMMAND QUALIFIERS

: BLISS/CHECK=(FIELD,INITIAL ,OPTIMIZE) /LIS=LISS:RECLREC/0BJ=0BJS:RECLREC MSRCS:RECLREC/UPDATE=(ENHS:RECLREC)
Size: 1248 code + 529 data bytes
Run Time 0:30.1

: 00:30.
Elapsed Time: 01:45.3
Lines/CPU Min: 903
Lexemes/CPU-Min: 15252
ﬂenor{ Used: 148 pages
Compilation Complete
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